N

=
X

8,800 (

350,254 (&K)

+
IULAN—493.0t
O ETIEHR
£ =
=
R L ﬁi
BIEAE =
o
K
5 0
e i
: g iS
= ] g
&9 k2
I3 2 % |
5 [ - |
S * |0 £
== fee) Q 3(
: &8 s i
4 X |® 8 |
% [e0]
S Q
cad f
N @
$EE =
o
A
o
o
(\i,
olg _
lo)ls)
M0
o |
1o RIEE ]|
of FfiE
e}
o
o
2570 8 900
ONX— R
‘ 2,630
295 ‘ 2,040 295
0
Q
N
T — o{
o
L4 8 S
Yo}
N

SEC-3000SS
OEESTHER
679 1,875 679
{E ==
I .
= o9
o o T L9
[ ® & Pleo| ¢ ¢ - 9
= 2 - Trelll@l | o[ o=l - S
= — + =—h ¥
(@)
g - 1 8
— 50 (560 2,014 560 50
3,234
Ok TFEEH
1,770
‘ ‘ 1,250 ‘
===
a \ \
o © \ \
g o
3 re}
g 3 : 8 o
4;6 +)'6
05 -
| 0
s 4 4,780
8le
S| g
A O
—| D
[s0]
‘I_:IKPﬂ
HF.
HERDEROSTE
5060 X 3040
O 1{tik
g} B SEC—3000SS
&#HEE kg 3,000 (EE 46 A)
% 2 m 350
FEEERE m/s (m/min) 1.67 (100)
o kWX & 30%3
% 25 8 ~F & WXLXH(m) 46%x1.75%2.5 (3.3)
BMEAR THRBEHETE BENES - FEHL /N —
= & V.Hz AC400/440 50/60
BEPETRALEEE (BT L —%)
ZEKE BETEFIREE
TZ7A4FINV)Iy bRy F
BHI— R 67088

" #ta LAY--YY-FU

I
=
A
I
L
h
2
Y
2
|~

93



